


EXPLODEDVIEW: EV AIR CLEANER D3.4L TELECOM   

DRAWING#:10000043310  GROUP D  
APPLICABLETO: 

 

ITEM PART# QTY. DESCRIPTION 

REVISION: -A-  Page 2 of 2 

DATE: 9/26/18 

 1 0K0857 1 CAN OIL CATCH 

 2 G035586 1 CLAMP HOSE #20 .87-1.75 

 3 0K0857A 1 FILTER OIL BREATHER CATCH CAN 

 4 G034339 1 ADPTR BARB 90D 5/8 X 3/8NPT 

 5 G057822 2 CLAMP HOSE #8 .53-1.00 

 6 0A6283 1 HOSE PREFORMED BLOCK HEATER 

 7 0D3700 2 NUT HEX FLANGE M6-1.0 LOCK NYLON 

 8 G052859 2 NUT TOP LOCK FL M10-1.50 

 9 10000041771 1 ST03 BRACKET D3.4L AIR CLEANER 

 10 G022473 2 WASHER FLAT 1/4-M6 STEEL ZINC 

 11 G045757 2 SCREW HHC M6-1.0 X 25 C8.8 

 12 G022145 2 WASHER FLAT 5/16-M8 STEEL ZINC 

 13 G022129 2 WASHER LOCK SPRING 5/16 ZC 

 14 G042907 2 SCREW HHC M8-1.25 X 16 C8.8 

 15 G073267 1 AIR CLEANER 

 16 G073354 1 STRAP, AIR CLEANER 

 17 G022131 2 WASHER FLAT 3/8-M10 STEEL ZINC 

 18 G051756 2 SCREW HHC M10-1.5 X 20 C8.8 

 19 086133D 2 CLAMP HI TORQUE 2.25 - 3.125 

 20 0H8122 1 PIPE, 3.4L G16 AIR INTAKE W/AM 

 21 G026073 1 PLUG STD PIPE 1/8 STEEL SQ HD 

 22 G059379 1 REDUCER RUBBER 2-2.5 

 23 086133C 1 CLAMP HI TORQUE 1.75 - 2.625 

 


